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QUESTION 1

Push the Exhibit Button to load the referenced "XML Document 1" and "XML Document 2," and process XML using
"DOM Processing".

[ZML Documentl]
<h3:rootl ¥mlns:ns="urn:xmlmaster:EX1">

<na:darta na:info="value">string value</ns:cataxr
</ns:rootl>

[ZML Documentz]
<ns:root: Xmlns:ns="urn:xmlinaster:EZZ "/ >

Select which of the following is the most appropriate expression of the results under XML 1.0. Line feeds and/or indents
are not reflected in the results.

[DOM Processing)
Procezs ZML using the following method.

Dozumwent output = updateXML | docl, doc2 ):
The wvariable docl rere references the Document instance of the loaded "XHML Document 17.
The wvariable docZ2 kere references the Document instance of the loaded "XML Document 27,
The DIM parser is rawmespace aware.
Lasumz no exXecutior errors.

publiz static Document updateXML ! Document docl, Document dcocz2 ) f
SJtring N3 = "urn:xmlmasster:EX1";
Element data = (Element)docl.getElenentsEyTagNamels (NS, "cata™).itcem(0);

Atre info = data.gethttributeNodelN3 (NS, "infa™):

Attr imported = ([Attr)dociZ.importMode (info, crue):
docz..gethocumentE lement () . setittributeNodelN3( imported ):

recurn docs;

Correct Answer: C

QUESTION 2

When receiving an XML document following the DTD defined by NewsML (portions modified for this question), the
document is processed via SAX programming.
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[DTD]
<!ENTITY % localid "™ Duid ID #IMFLIED
Euid CDLTA H#IWNFLIED":

< !ELEMENT MNewaldentifier (NewaItemlId .,
Eewvizionld) >

<!ELEMENT MNewsltemId (#PCDATAL) >

< !ELEMENT RewvisionId (#PCDATA) =

SIATTLIST RewvisionlId Update CDALATL #HREQUIRED >

< !ELEMENT Identification ([MNewsIdentifier):»
<!ATTLIST Identification Ilocalid; >

< !ELEMENT HNewzItem (Identification)>

< VELEMENT NewsML [(MewsItemt) =

Push the Exhibit Button to load the referenced "DTD". When processing the following "XML Document” according to the
method shown by "SAX Processing," which of the following correctly describes the output results (print method output)?
Note that the attribute value is not output for this question.

[¥ML Docwment]

The root element name [(document element name) is "NewsML".

The XML document follows the "DTD" definition.

The XML Document has no document type declaration.

The ZML Document iz comprised of elements, attributes and character dats; comments and CDATL secions, etc. are not
ineluded.

The ZML Document is indented, and includes ignorsbhle white spaces such a=s line feeds and tabs hefare the start-tags.

[S4X Processing]
Use the following "ContentHandlerImpl"™ class, and parse the EML Document using 34X,
Assume no eXecution Errors.

clasz ContentHandlerImpl extends DefaultHandler |
private String elementlagune = "'

public volid star-Element |
String newessaceURI, String looslllswe, String offsans, Attributes stt=)
throws SAXException {
elementName = glame;
F
public vwold endElement |
String nawessacelURI, String localllawe, String oilsme)
throws S3A¥XException {
elementMame = "7}
3
public woid characters(char[] ch, int start, int length)
throws SiXException {
if ([ elewentNeme.equals("") == falae | {
System.out.print (new String(ch, start, length)):
i

b
F

A. All character data of elements can be output, ignorable white spaces are not output

B. All character data of elements can be output, and ignorable white spaces are also output
C. A portion of character data of elements cannot be output

D. No character data of elements can be output

Correct Answer: B

QUESTION 3

Process the following "XML Document" according to the method shown by "DOM Processing," and output "article" (by
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print method). Select which of the following correctly describes what should be in (1) for "DOM Processing"

[ZHML Document]
<oontentrarticled/contents>

[DOM Processing)
Process ZEML using the following method.
printXEML (| doc ):

The var igbile duoc here pelfereaces Lhe Docwuaneol iosLooce of Lhe loaded XML duc anenl .

public static wvold printXML{ Docuwment doc ] {
Element contenz = doc.getDocumentElemeat () ;
System.out.priat| —————— [l —————— :

¥

A. content.getText()

B. content.getNodeValue()

C. content.getChildNode().getNodeValue()
D. content.getFirstChild().getNodeValue()

Correct Answer: D

QUESTION 4

Push the Exhibit Button to load the referenced "XML Document".

[ZML Dozument]
<root>
<data w=mrinr
<data x="1"
“data x=1r1rmr
<date x="1"
</ root>

mErx3</datar
rgre g fdatar
FErLOS S datas-
"gre1z </ datar

55

Assume that the character "3" is obtained from the "XML document". Select which XSLT style sheet correctly performs
the transformation. (Multiple answers possible. Select two.)

A.
B.
C.
D.

Correct Answer: BD

QUESTION 5
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Which of the following is incorrect with respect to XML?

A. An XML document features high data readability

B. An XML document can be transmitted over general-use protocols such as HTTP and SMTP
C. XML is designed with the ideal structure for storage in an RDB (relational database)

D. Some RDBs (relational databases) can output results data in XML format

Correct Answer: C
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